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[root@cvknodel ~]# pvcreate /
Physical volume "/dev/sdb1l"
[root@cvknodel ~]# pvscan
PV /dev/sdbl lvm2 [<5600.00 GiB]
Total: 1 [<500.00 GiB] / in use: 0 [0 1 / 1in no VG: 1 [<500.00 GiB]
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LfEFE8T, BIEHRRAB2T, REAIIFEIIEE R dos
[root@cvknodel ~]# fdisk -1 /dev/sdc

Disk /dev/sdc: 8000.5 GB, 8000450330624 bytes, 15625879552 sectors
Units = sectors of 1 * 512 = 512 bytes

Sector size (logical/physical): 512 bytes / 4096 bytes

I/0 size (minimum/optimal): 262144 bytes / 262144 bytes

Disk label type: dos

Disk identifier: 0x9a99079d

Device Boot Start End Blocks Id System
/dev/sdcl 2048 4294967294 2147482623+ 8e Linux LVM
[root@cvknodel ~1# I

[root@cvknudel ~]# pvscan
PV /dev/pucI—VG~yurjpan lvm2 [<2.00 TiB / © free]
Total: 1 [<2.00 T'j_.B] 4 in use: 1 [<2.00 TiB] / in no VG: O [©

Disk label type: dos &/~"MBR 7 X%, MBRAVIRFIRAHZ2TB
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